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1. Candidate must write his /her Roll Number on the first page of the Question 
Paper. 

2. Please check the Question Paper to verify that the total pages and total 
number of questions contained in the Question Paper are the same as those 
printed on the top of the first page. Also check to see that the questions are 
in sequential order. 

3. For the objective type of questions, you have to choose any one of the four 
alternatives given in the questions, i.e., (A), (B), (C) and (D) and indicate your 
correct answer in the Answer-Book given to you. 

4. All the questions including objective type questions are to be answered within 
the allotted time and no separate time limit is fixed for answering objective type 
questions. 

5. Making any identification mark in the Answer-Book or writing Roll Number 
anywhere other than the specified places will lead to disqualification of the 
candidate. 

6. Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth, 
Earphone or any such electronic devices in the Examination Hall. 

7. In case of any doubt or confusion in the Question Paper, the English version 
will prevail. 

211/MAY /203B II I IIIII II Ill llllllllll llll II Ill II II I II I Ill I IIIII l P. T. o. 

UNNATI E
DUCATIO

NS 

98
99

43
63

84
 

96
54

27
92

79



8. Write your Question Paper Code No. 68/MAY /3, Set 00 on the Answer-_Book. 
9. (a) T~e Question Paper is in English/Hindi medium only. Howeve~, if you 

wish, Y?U can answer in any one of the languages listed below • 
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, I{~nad~, 
Telugu,_ .Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, epali, 
Kashmiri, Sanskrit and Sindhi. . 

you are required to indicate the language you have chosen to answer in 
the box provided in the Answer--Book. 

(b) If you choose to write the answer in the language other than Hi~di and 
English, the responsibility for. any errors/ mistakes in understanding the 
questions will be yours only. 

tllt//.q~: 

1. 1W~ >ff.1-'q"3f t ~ ~ tt1: m dijsfiqjq:; ~ ~I 

2. ~m-'q"3f~~~~m-~i~~omm~~tt~i~~~~~ 
~ w:ft t1 ~ ~ ~ ~ ~tn\ ~ ~ m sf>ftlq:; ~-ij ~I 

3. q~~a m -ij ~ ~ f¾q:;~ (A), (B), (Cf~ (D) -ij ~ ~ ~ ~~tom~~~-
gffaq:;1 -ij ~ ~ fFHsHI ti "=- • .s 

4. q~~amt~-~"@ftmt~~~~t~tt~~I q½!Pmm~~3lWT 
~ ~ ~ ~ \JtlQ_Jtl I - -~-, 

: ~ -==-

5. ~-gft<icf>1-q q~-qH-~ ~ ~ ~~ i diRlfnfi ~ ~ 3ijsfiqicn R1@~ ~ "tftt~cnr 
~ <3~(141 \JtlQ_JII I ::, ---~ 

6. tftt~ ~,roan™ -q ~ci>~l<, G1at1$~ iit;r, ~' $4<4>11 ~ ~ ~ $~if?THct> 39c:f><0, ~ ~ 
~~•~ti 

7. m-~ -q fcnm ~ ~ t ~ 31~ ~m ~ ~-q ~ ~ tt ~ mrrtl 
8. ~ ~-gft<icf>I "CJ\ m-~ 'cf>T q,ls ~o 68/MAY /3, ~ 00 M1 

9. (en) m-~~~/~lJlum-qt1m~,~3lltT~cll~~~~"Q_c:t>m'ff-q~~ 
............... ~: -
~q,(1 ~ - ~ 

~, ~' ~ 9Zi!lcsfl, ffl, R;.Y~~1~q, ~, ~ lRral, ., ~\Jt(lctl, cifq:;ofl, 
~' 3H-tftl41, ~q1<:-fl, q;~tflll, e_~a, ~ fu-;tfi1 

~ "Jm:-g~cf>I -q ~ ~ ~-q ~-~ 3l1tT ~ ~ -q ~ ffi ~ ~I 

("&) ~ 31111 ~ "Q,ci ~ t 3iRlf{=ct> ~-~ ~-q ~ fc1@a ~' mm~ eq$i~ -ij ~ c{@T 
~/Jl(1@41 cfil Riiu:t~lll ~ ~ mj11 
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Time : 2 ½ Hours ] 
~: 2¼~] 

MATHEMATICS 

• 
[ Maximum Marks : 85 

[~: 85 

Note : (i) This Question Paper consists of 44 questions in all. 

(ii) All questions are compulsory. 

(iii) Marks are given against each question. 

(iv) Section-A consists of 

(a) Question Nos. 1 to 17 (multiple choice type questions (MCQs) carrying 
1 mark each). Select and write the most appropriate option out of the 
four options given in each of these questions. 

(b) Question Nos. 18 to 28 (objective type questions). Question Nos. 18 to 
27 carry 2 marks· each (with 2 sub-parts of 1 mark each) and 
Question No. 28 carries 5 marks (with 5 sub-parts of 1 mark each). 
Attempt these questions as per the instructions given for each. 

(v) Section-B consists of 

(a) Question Nos. 29 to 37 (very short answer type questions carrying 
2 marks each) 

(b) Question Nos. 38 to 4-2 (short answer type questions carrying 
3 marks each) 

(c) Question Nos. 43 and 44 (long answer type questions carrying 
5 marks each) 

~: (i) ~ m-tBT -q ~ 44 m ti 

(ii) lM m ~f;ici 14 t I 
(iii) ~ m t 3Ttn ~ mtR ~ ~ t1 

(iv) ~--31 -q t1fut fcia ~ 

(a) IB~ 1 B 17 (~~~tfi~4 %RtIB (MCQs), ~ l 3Ttn~)I ~-a~ 
m -q ~ ~ ~ ~th~, -q -a mm 39~ ~thC'Y cfiT ~th{ ~ 1 

(b) m ~ 18 -a 28 (ci½!Pta "5rcf;R t m)1 m ~ 18 -a 27 aq; ~ ~ 
2 3Ttn~t (~ l 3Ttnt 2 ~t~) 3Tll:IB~ 28, 53ltn~t (~ 
l 3Ttnt 5 ~t~)I ~~~t ~"ff~t~IB&I 
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r 

(v) ~-Gf -q t1fu!R1a ~ 
(a) m m§!IT 29 it 37 (J:rrd i"!'{_'1tlll m ii; mr.r, ~ 2 3fili '1,11) 
{b) m tf&TT 38 "B 42 (flfl"Ciall ~ ~ m, ~ 3 3fcn ~) 
{c) m tf&TT 43 ~ 44 (tt4-J:afjll ~ ~ m, ~ 5 3fcn ~) 

(
1) An f all · . . B ok given to you. swers o questions are to be given 1n the Answer- 0 

~ ~ ~ ~ 3lNcfil ~ ~ ~-g~c411 -q tr ~I • 
(2) 15 · · · • p er The Quest10n minutes time has been allotted to read this Question ap • th 

Paper will _be distributed at 2: 15 p.m. From 2: 15 p.m. !0 2:
3o P-~~r 0 ~ 

students will read the Question Paper only and will not write any ans 
the Answer-Book during this period. ~ --rlrT"?T ~ w m-tBT cn1 ~ ~ ~ 15 ~ -q;J ~ ~ 11m t1 m-trn ~ ~a{or ~'.'1~\ ~ 
2: 15 'Ni WIT ~I ~ 2: 15 'Ni it 2:30 'Ni ~ m:! -ij;qi"!' mr.r-'!,I q;'\ ~ afu 
W ~ ~ ~ ~ ~-gffaq;1 'ITT-~~~ R-l@~I 

SECTION-A 
~-3t 

1. The probability of an impossible event is 
(A) 1 - (B) 0 

1 
(C) 2 

~ ~ ~ -tf Sll~c41ctl t 
(A) 1 

1 
(C) 2 

1 
(D) 3 

(B) 0 

1 
(D) 3 

2. The value of cosec2 67° - tan2 23° + 1 is 

(A) -1 

(C) 1 

cosec2 67° - tan2 23° + 1 -q;J lfR t 
(A) -1 

(C) 1 

(B) 0 

= (D) 2 

(B) 0 

(D) 2 

1 

1 
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3. One side of a parallelogram is 15 cm and its corresponding altitude is 
5 crn. The area (in cm2) of the parallelogram is 

(A) 75 (B) 37·5 

(C) 20 (D) 3 1 

~ ~ cfil "l;cfi ~ 15 -aolfto ~ WTo wf ~ 5 -aolfto ti ~4id(q~~ cfiT 

~ (cf11 -aolfto ll) t 
(A) 75 

(C) 20 

(B) 37·5 

(D) 3 

4. If the mean of 10 numbers is 15 and that of another 20 numbers is 24, 
then the mean of all 30 numbers is 

(A) 15 

(C) 21 

(B) 20 

(D) 24 

~ 10 "ffi§!IT3TI cfiT 'ITT~ 15 i ~ ~ 20 ~311 cfiT 'ITT~ 24 t m ~ 30 tf&IT3TI 
q;r mur t 
(A) 15 = (B) 20 

(C) 21 (D) 24 

5. The distance (in units) of the point (8, 6) from the origin is 

(A) 10 (B) 8 

(C) 6 (D) 14 

~ ~ -a ~ (8, 6) cfiT qft (~ 11) t 
(A) 10 

(C) 6 

(B) 8 

(D) 14 

6. The area of a circle is 441n cm2. Jts circumference (in cm) is 

(A) 33 (B) 66 

(C) 132 (D) 264 
, 

~ ¥ cfiT ~ 4411t cfl"f -aolfto ti ~ i:rftfq (-aolfto ll) mTft 
(A) 33 ~ (B) 66 

(C) 132 (D) 264 

1 

1 

1 
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7. 

8. 

(1 + tan2 A)(l - sinA)(l + sin A)= 

(A) 0 (B) -1 

(C) 1 - (D) 2 

In a MCB, right angled at C, if cot B = 
3 

, then tan A == 
4 

4 3 
(A) - (B) -

3 4 

1 1 (C) - (D) -3 4 

~ MCB, ~ LC= 90°, -q ~ cotB = 3 , (l) tanA == 
4 

4 3 (A) - (B) -
3 4 

1 1 (C) - ti, (D) -
3 4 =r- ·-

9. If the surface area of a sphere is -i-54 cm2, then its diameter (in cm) is 

(A) 21 -,,,,, (B) 14 

1 

1 

(C) 7 =- -_ (D) 3·5 1 

~ ~ TTTB ~ ~ ~ 154 qlf -ao-s:fto t m 3BcnI o!fIB (-aolfto -q) t 
(A) 21 (B) 14 

(C) 7 (D) 3·5 

10. Which of the following is true for a cyclic quadrilateral? 1 

(A) Both of the opposite angles are always acute 
(B) Opposite angles are complement-ary 
(C) Opposite angles are supplementary 

(D) Both of the opposite angles are -always obtuse 
~ 

R~R-ifula -q -a cnt.=r-m ~ ~ W,.~~ ~ t? 

(A) ~ cfiTOTT -q ~ $ 4jcf>l0I ~ t 
(B) ~ cfilUT ~ ~ t 
(C) ~ cnTUT ~ ~ t 
(D) ~i.g@ cfiTOTT -q zyn $ ~ cfilUT ~ t 
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11. Rahul bought a sweater and saved ~ 200 when a discount of 25% was 
given. The price of the sweater before discount was 
(A) ~ 300 C, (B) ~ 400 
(C) ~ 600 (D) ~ 800 

~ ~ ~ ~ q;) 25% ~ ~ ©~c!.ch( ~ 200 ~ ~ ~I ~ '8 ~ ~ cfiT 

~m 
(A) ~ 300 

(C) ~ 600 
~ (B) ~ 400 

(D) ~ 800 

12. The angle subtended in a semicircle is a/ an 
(A) acute angle (B) obtuse angle 
(C) right angle (D) exterior angle 

~ ~ ~ "§.3TI cffiUf moT t 
'\ (A) ~cf,jOI 

(C) ti4ch101 

(B) 3TIQcfi cf>1'C1l 

(D) ifTW cf>1'C1l 

13. By selling a fan for ~ 810 a shopkeeper gains 8%. The cost price of the 
fan is 
(A) ~ 780 (B) ~ 760 

1 

1 

(C) ~ 750 (D) ~ 740 1 

~ 5:ctiH~I( ~ ~ q;) ~ 810 -q ~ 8% "RN ~ ~ ~I ~ ciiT ~ ~ ~ 
(A) ~ 780 (B) ~ 760 

(C) ~ 750 (D) ~ 740 

14. The factors of x2 + xy +Bx+ By are 

(A) (x + y)(y + 8) 

(C) (x + y)(y - 8) 

x2 +xy+8x+8y t ~01-1cis ~ 

(A) (x + y)(y + 8) 

(C) (x + y)(y - 8) 

(B) (x + y)(x + 8) 

(D) (x - y)(x + 8) 

(B) (x + y)(x + 8) 

(D) (x - y)(x + 8) 

15. If the equation a.x2 +bx+ c = 0 has equal roots, then c = 

-b b 
(B) 2a 

1 

(A) 2a 

-b2 
(C) 4a 

b2 
(D) 4a 1 
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~ fltflq,(01 a.x2 + bx+c == 0 ~ ~ tlt:fR t (TT C = 

16. 

-b 
2a 

-b2 

4a 

The HCF of 36x5y2 

(A) 36x2y 2 

(C) 90x3 y 4 

36x5y 2 ~ 90x3 y 4 

(A) 36x2y 2 

1C) 90x3 y 4 

and 90x3y4 

b 
(B) 2a 

b2 
(D) 4a 

is (where x, y are primes) 

(B) 18x3y2 

(D) 180x5y4 

cnT 11o"f!"o ~ (~ x, y ~ ~&-ll~ ~) 

(B) 18x3y2 

(D) 180x5y4 

17. If the point (6, k) lies on the line represented by the equation 
3x + y - 22 == 0 , then the value of k is 

~ (A) -4 
~ (C) 3 

~ ~ ~ (6, k) B41ihl0 , 3x + y - 22 = O 
-aa7"A) -4 

(C) 3 

(B) -3 
(D) 4 

IDU Pt~fcla oo ~ ~ t oT k ~ lfR ~ 
(B) -3 
(D) 4 

18. A boy observes that the length of the shadow of a tower is variable at 
different timings in daytime. He also observes that it is due to position of 

~= t:!;ie sun at different timings. On the basis of this, answer the following 
~ ~estions : 

: =;iiJ If the ratio of the height of the tower and the length of its shadow is 
::=:.--= 
S. E = 
-===--- ✓3 : 1 , then the angle of elevation of the sun is 

(A) 30° (B) 45° 
(C) 60° (D) 75° 

§[" _ (ri) If the angle of elevation of the sun is 45°, then the ratio of the height 
of the tower to the length of its shadow is 

(A) ✓3: 1 

(C) 1 : 1 

(B) 1: ✓3 

(D) 1 : 3 

1 

1 

2 
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~ ~ ~ t fcf; ft:;r t Wllf ~ lfr-m: ~ ~ ~ ~ Wllf-Wllf 1R iq~(--ld) ~ 
ti ~ ~ tjt ~ ~ t Ffi ~ 3lWT-3lWT Wllf "9'{ ~ ~ ~ ~ t cfiR11T m wr 
ti ~ '1!Hcfilt1 t 3mm "9\ f?ti.:iRifurn ~ t ~ ~ : 
fiJ ~lfr-m:~~~~~~~"cf,T~ '13:1 tm~"cfil"JWH 

cfi1UT t 
(A) 30° (B) 45° 

(C) 60° (D) 75° 

fiiJ ~ ~ "cf,T ~ cfi1UT 45° t m lfr-m: ~ ~ ~ ~ ~ ~ ~ "cf,T 

~t 
(A) ✓3: 1 
(C) 1 : 1 

19. Fill in the blanks : 

(B) 1: ✓3 
(D) 1 : 3 

(i) Two chords AB and CD of a circle intersect each other at a point P 

inside the circle. If AP = x + 1, BP = x + 2, CP = x and DP = x + 4 , 
then the value of x is --

(ii) In the figure given below, if O is the centre of the circle, then the value 
of xis --

p 

Q 

fun WRl ~ 'lfif ~ : 
(i) ~ <ff ~ ~ ~ AB mTI CD, <ff ~ ~ ~ P "9\ ~ Slfa=aJ~ "cf,Uft ~I 

~ AP= x+l, BP= x+2, CP= x ~ DP= x+4, "ITT x "cfiT ltR __ ti 

(ii) ~ ~ ~ • -ij, ~ 0 <ff "cfiT ~-~ t "ITT X "cfiT ltR _ ti 

p 

Q 

2 
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20 W 't PT' ' " • ct statement : 2 
• n e 1 rue 1or correct statement and 'False' for mcorre 

21. 

22. 

P) If ext rnal point P to 
11 the angle between two tangents drawn from an e gth f OP· 

a circle of radius 3 cm and centre O is 60°, then the len ° is 

5cm. 

{ii) The maximum number of common tangents that can be drawn to two 
circles is four. 

~ ~ t ~ ~· ~ 1@o ~ t ~ ·~· ~ftj~ : 

{i) ~ ~-~ 0 ~ ~ 3 °ijolfto t '(% ¥ 1R ~ cn&T ~ p "ij ~ 7Jf 
~ m-WT3TT t ~ ~ cfi1UT 600 t, -a) OP ~ ~ 5 "ijolfto ii 

ruJ ~ ~ ~ ~ ~ ~ cm-fl ~ m-"woo ~ ~ ~ ~ i1 

Match Column-I with the correct option of Column-II : 

Column-I Column-II 

(i) The 10th term of the AP 5, 9, 13, 17, ... is (a} 4050 

(ii) The sum of the first 100 natural numbers is (b) 5050 

(c) 41 

m-I ~ m-II t ~ ~cf>~ ~ ftR;rr;J ~ : 

~-I ~-11 

(i) tPITTR. ~ 5, 9, 13, 17, ... q;r lOcIT ~ i (a) 4050 

(ii) ~ 100 ~ l{@IT3TT ~ "lfl1T i (b) 5050 

(c) 41 

Fill in the blanks : 

(i) The 11th term from the end of the AP 10, 7, 4, ... , -62 is 

(ii) The number of terms in the AP - 7, - 12, - 17, ... , - 82 is 

fut> ~ clit 1tfif ch}~~ : 

fiJ tPITTR ~ 10, 1, 4, ... , -62 ~ am "ij 11cn ~ __ ti 

(ii) tPmR ~ -7, -12, -17, ... , -82 t ~ ~ ~ ii 

2 

2 
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za. Fill in the blanks : 

(i) 
(~ + ~)\(~ - ~r = 

(ii) 
x3 y3 
-+-= 
8 27 

fufi ~ ~ ~ '1~(( : 

(i) (>~)\(>~r = 

(ii) 
x3 y3 
-+-= 
8 27 

24. Rohan bought a geometry box from the market. He wants to find out the 
perimeter and surface area of the semicircular protractor available in the 
box. He finds radius of the protractor as 14 cm. On the basis of above 

2 

information, answer the following questions : 2 

(i) The perimeter of the protractor is 

(A) 144 cm 

(C➔ 58 cm 

(B} 72 cm 

(D) 44 cm 

(ii) The surface area of one of the two faces of the protractor is 

(A) 616 cm2 (B) 308 cm2 

(C) 154 cm2 (D) 72 cm2 

~ ~ ~ -a '((cfi ~l~fa ~ ~I ~ ~ ~ -q ~ ~ ~ ~ qftq1q 
~ ~ ~ ~ ~ ti ~ "q@l t ~ ~ ~ ~ ~ 14 -aolfto ti ~ ~ 
t 3mm -q'{ Plt.iR-tfuia ~ t ~ ~ : 

(i) ~ ~ qftq1q t 
(A) 144 -aolfto 

(C) 58 -aolfto 

211/MAY/203B 11 

(B) 72 -aolfto 

(D) 44 -aolfto 
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(A) 616 qJf -aolfto 

(C) 154 qJf -aolfto 

(B) 308 crf -aolfto 

(D) 72 qTf -aolfto 

25. Fill in the blanks : 

(i) If the distance between the points A(0, 0) and B(x, 3) is 5 units, then 

the value(s) of x is/ are __ 

(ii) If M{2, p) is the mid-point of the line segment joining the points 

A(6, -5) and B(-2, 11), then the value of p is --

fut; ~ cFiT ~ if))~Q, : 

{i) ~ ~3TT A(0, 0) om B(x, 3) ~ ~ cFiT ~ 5 ~ i, oT X cfiT/~ m;r -

i1t1 

(ii) ~ ~3TT A(6, -5) om B(-2, 11) ~ µJ(.11~ ti@ {©l@s cfiT -qtlf-~ M(2, p) 

i, m P cfiT lfR _ ti 

26. Match Column-I with the correct option of Column-II : 

(i) 

(ii) 

Column-I Column-II 

In the given figure, if LABC = 100° and 

LACE= 50°, then LBDC is 

X 70° 
y 

In the given figure, 0 is the centre of a 

circle and XA Y is a tangent to the circle. 

If LAOB = 70°, then LBAY is 

(a) 35° 

(b) 30° 

(c) 45° 

2 

2 
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(i) 

(ii) 

~-I 

50° 

100° 

t ~. ~, ~ LABC=100° v:ci 
LACB = 50°, m LBDC ~ mq t 

p 

X 70° 
y 

t~•~, o~~cfil~-~t~ 
XAY~~~-~tl ~ LAOB=70°, 

"ffi LBAY ~mqt 

~-II 

(a) 35° 

(b) 30° 

(c) 45° 

27. Write True' for correct statement and.-'Fitlse' for incorrect statement : 2 

(i) If x 3 + 8 = (x - a)(x2 + 2x + 4), then the value of ~ is 2. 

r.z·;) ✓3x + 7 • t' al • ,,~ -- 1s a ra 10n express10n. 
x+l 

(i) ~ x3 +8 = (x-a)(x2 +2x+4), "ffi a g,T lfR 2 t1 

(ii) ✓3x+ 7 ~~~ti 
x+l 
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--~~~~•~~2±_!1-•-=•••l:sr.11111111 

28. 
h the numbers 1, 3, 

A die is numbered in such a way that its faces s ow . ted as given 
3, 4, 2, 6. It is thrown twice and the product of the scores is no 
in the table below : 

1 3 3 4 2 6 

1 1 3 3 4 2 6 

3 3 9 9 12 6 18 

3 3 9 9 12 6 18 

4 4 12 12 16 8 24 

2 2 6 6 8 4 12 

6 6 18 7.8 24 12 36 

On the basis of the above information answer the fallowing questions : 5 
' 

(i) The probability of getting the product as 18 is 

1 1 
(A) 9 (B) 36 

E'::.. E: 
= -§ "'i713 
e ~ 1 

(C) 18 
1 

(D) 12 
. 

(ii) The probability of getting ni .... ~E~duct as odd number is 

1 ~ ~ 1 
E ~-

(A) 6 =- ~ • (B) 

2 
(C) 9 

-=-~ 4 
~ 
6 JS -

1 
(D) 18 

(iii) The probability of getting the product as at least 10 is 

. 1 18 
(A) 16 (B) 36 

7 
(C) 18 

17 
(D) 36 

(iv) The probability of getting tne...::__product as an even prime number is 

(A) 
1 

4 

1 
(C) -

9 

-
s _i~ 

f! 
= - ~ 

'""'i§ 

1 
(B) 36 

1 
(D) 18 
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(v) The probability of getting the product as a number which is not a 
multiple of 3 is 

1 
(A) 4 

4 
(C) 9 

1 

3 

3 

4 

2 

6 

1 

1 

3 

3 

4 

2 

6 

3 3 

3 3 

9 9 

9 9 

12 12 

6 ..6 -

18 18 

5 
(B) 18 

7 
(D) 36 

4 2 6 

4 2 6 

12 6 18 

12 6 18 

16 8 24 

- 8 4 12 

24 12 36 

$ ~ ~ 3lTtrR ~ Pi8R-lfurn ~ t ~ ~ : 
(i) ~ ~3TT cnT jOH4,(.'"! 18 >ITH ~1f ¥tf.¥S1l~chcil i 

1 r-== ~ 1 
(A) 9 :~ (B) 36 

a. _-

1 
(C) 18 

1 
(D) 12 

(ii) ~ ~3TT cnT j 0 Hlh(.'"! ~ ~ m§1TT >TTH ~ ~ Sll~chctl i 
1 1 (A) - (B) -
6 4 =- f: 

2 r -~ 1 (C) - :. (D) -
9 .:: 18 -

{iii) zyIT B&IT3TT cnT jOH4,(.'"! cf>ll-~-cf>ll ==10 ~ ~ Sllf4chctl i 
1 18 

(A) 16 36 

7 
(C) 18 

211/MAY /203B 15 
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1 
(A) 4 

1 
(B) 36 

1 ~ 1 
(C) 9 (D) 18 

(u) ~ ~3U cfiT ~Hq;~ ~ ~ lra!U
1 
~ 3 ~ ~ ";J m, ~ ~ -ij "5lIB ~ ~ 

si1~q;a1 ~ 

(A) 1 
4 

4 
(C) 9 

' 5 
(B) 18 

7 
(D) 36 

SECTION-B 

~ 

29. Find the median of the following da,ta : 

~ 2 3 4 5 6 7 

/i 4 9 16 14 11 6 

X· l 2 3 4 5 6 7 

Ii 4 9 16 14 11 6 

3JJ. Find the coordinates of a point w:!:1i~ divides the line segment joining the 

2 

points A(-1, 7) and B(4, - 3) int~mally in the ratio 2 : 3. 2 
-:...-__ _ 

~ ~ ~ ~ R~~lich ~ ch1N1~, ~ ~JTT A(-1, 7) ~ B(4, -3) "cfiT ft!~,~ q@ 

{@l@s "cfiT 2 : 3 ~ 3Rf:-Jij41d -q ~ -~ 'ITTI 

31-· Find the length of the median /ID Q!: a triangle ABC, whose vertices are 

A(O, -1), B(2, 1) and C(O, 3). !1 2 
--

~ ~ ABC, N1tich ~ ~ A(O, -1), B(2, 1) ~ C(O, 3) ~' ~ ~ AD ~ 

~ ~ ch1N1~1 
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Or/~ 

Find a point P on y-axis which is equidistant from the points A(S, 2) and 
B(-4,3). 

y-3l~ lR 1% ~ P mo 4i1~Q., '111 fcf; ~3Il A(S, 2) "om B(- 4, 3) -a eq~~ "ITT I 
32. PQ is a chord and PR is a tangent at P to the circle with centre 0. 

If LRPQ = 50°, find LPOQ . 2 
1% ~, ~ticbl ~-~ 0 t ~ ~ PQ 3fr{ ~ PlR ~ m-wr PR i, ~ 
LRPQ = 50°, m LPOQ mo cfi)~Q.I 

33. A table is sold for ~ 20,000 cash or ~ 6,000 as cash down payment, 
followed by ~ 15,000 paid after 2 months. Find the rate of interest per 
annum charged under the instalment plan. 2 
1% ~ ~ 20,000 ~ 3lircTT ~ 6,000 ~ ~ ~ 2 ~ q~illq_ ~ 15,000 ~ 
:fIBR lR ~ ~ i1 ~ ~ ~ -q ~~~~~~mo cfi)~Q.I 

34. Two cones with same base radius 8 Gll1 and height 15 cm are joined together along their bases. Find the surface area of the shape so formed. 2 
WrR 3:ntffi ~ 8 -aolfto ~ ~ 15 -ao-ifto t ~ ~3TI t 3Til.ffiT cfiT ~-~ -a 
frl~lcb{ ~ ~ ~ i1 ~ %R -f;rfifu ~ • (cffg) cf;T ~ ~ mo cfi)~Q.I 

Or I 3WcfT 

Two identical cubes each of volume 64 cm3 are joined end-to-end. Find the 
surface area of the solid so formed. -
~ ~ ~ t:r-n, ~ ~ cf;T 3TI«<R 64 tR -aolfto t t fcti-11U cfiT frl~lcb{ ~ ~ 
~ i1 ~ ~ -f;rfifu ~ cffg cf;T ~ ~ ~ 4i1~Q.I 

35. A table marked at ~ 15,000 is available for ~ 14,400. Find the discount 
percent given to the customer. 

~ ~, ~ticbl ~ ~ ~ 15,000 t ~ l.~b400 -q ~ ti ~ tfiT ~ ~ cf@l 

~ 51fa~1a ~ ~I 

Or/~ 

Find the compound interest on ~ 12,600 for 2 years at 10% per annum 
compounded annually. 

~ 12,600 cf;T 10% tjl~cb ~ -a 2 cf'i cf;T -tjsfi1f.& ~ ~ chi~((, ~ ~ tjl~cb 
B4'~a m<n ti 

2 
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3 th . t rice and allows 
6. A shopkeeper marks his goods 25% more than eir cos P 

a discount of 10%. Find his gain or loss percent. 

11.<fi ql>HG_I{ 3f1f.ft ~31\ '-Ill ~ 51i<1 1Wf 'it 25% ~ 3WliiJ q;(ffi % 3li"{ IO% ~ 
~ ffl i1 3Bcf>I ~ mrcn mf;r SI@~@ mo cf>1NJQ,I 

,=,.. = 

§ 2 1 1 g~ X - =- = 
If A=--, then find A--. i. ~= 

x2 +1 A ~.,g 

38. 

-==: F 

2 ~ X -1 ~ 1 
'-II~ A=--, (11 A- - ~ chlNJQ,I r, 

x2 +1 A 

Or/~ 

Solve the quadratic equation .fi.x2 + 7 x + 5✓2 = 0 . 

h B4lcf>(Ot ✓2,x2 + 7 X + 5✓2 = 0 cfil~~ ch1NlQ,I _,, __ 
:E -

If the mean of the following dat~is _ 54, find the value of x : 

~ f;ikiff!f©a 3-licf>~1 cnT llTUf 54 i, ir=x~cnT lfR ~ chlNJQ, : 
~~ 

Class 0-20 20s~· 40-60 60-80 80-100 
(qr{) 

Frequency 16 
(qT(qRal) 

26 X 

39. Prove that the angles in the same segment of a circle are equal. 

~ chlNJQ, rcfl ~ m c£-cl©s -ij ~ ~ cf)lUT m ~ ~I 

40. Solve the following system of linear equations graphically : 

41. 

x+y=9, x-y=-1 

- -=-x+y=9, x-y=-1 

The sum of the areas of two squtis~s 296 cm2. If the difference of their 
perimeters is 16 cm, find the sides-:-.of the two squares. 

w qlTI ~ ~;14>c11 cf)f mrr 296 qIT ~olft%~1~4R ~ qft:~141 cnT ~ 16 ~olfto i, or 
zyJT qlTI cfiT ~ ~ chlNJQ,I 

2 

2 

3 

3 

3 

3 
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Or I 3Wc11 

Find two natural numbers whose sum is 24 and product is 128. 

~ ~ ~ ~~I~ ~ chtf-itQ,, Rif-icfil <WT 24 3rf"{ ~OHCf>~ 128 i1 

42. The internal and external diameter of a steel pipe of length 140 cm are 
8 cm and 10 cm respectively. Find the volume of the steel. 3 
140 ~olfto ~ ~ ~ t 3iiaftcfi ~ ~ oqra ~: 8 ~olfto v;ci 10 ~olfto ~I 
"RIB cfiT 3W«R ~ cht~Q,I 

Or/~ 

A metallic sphere of radius 6 cm is dropped into a right circular cylindrical 
vessel, partly filled with water. If the sphere is completely submerged in 
water, the water level in the cylindrical vessel rises by 3 5 cm. Find the 
radius of the vessel. 9 

'QTg t ~ 100, f~mcf)) ~ 6 ~olfto i, tliT ~ {1csic[:Jlll ~~Hlcfil( ~, ~ fcF> 3riwn 
~ ~ ~ ~ m-r s,3ll t, -q s@ ~ ~ i1 ~ lITR "cfiT ~ -q ~ ~ ~ ~ ~ 
~, ID ~~-ilchl( ~ -q ~ cfiT ~ 3~ -aolfto "3o ~ ii ~ cfiT ~ fflcf chtf-it((I 9 

43. From a window, 10 m high above the ground, of a house in a street, the 
angles of elevation and depression of the top and foot of another house on 
the opposite side of the street are 60° and 45° respectively. Find the height 
of the opposite house. (Take ✓3 = 1 . 732) ~.... 5 
~ t ~ lJqwJ cfit fui~cht, Ritecht ~ ~-cR1 ~ 10 ~ i, ~ ~ cfit ~q<)a ~ 
-q -allH eR lJqwJ ~ ~ ~ ~ t ~ ~ Jiq-11H "cfiT'OJ ~: 60° ~ 45° ~I ~q<)a 
~ -q eR lJqwJ cfit ~ ~ chtf-itQ,1 ( J3' = 1 · 732 cl)~(() 

Or I 3Wc11 

From the top of a 7 m high building, the angle of elevation of the top of 
a cable tower is 60° and the angle of depression of its foot is 45°. Find the 
height of the tower. -

7 ~ ~ ~ ~ t ~ ~ ~ ~ lft;rn: t ~ cfiT ~ "cfiT'OJ 60° mn ~ 
~ cnf JicH4"1 "cfiTUf 45° ii lfi;m: cfit ~ ~ cht~C(I 
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44. Construct a triangle ABC in which AB+ AC = 8 • 2 cm, BC = 3 • 6 cm and 
LB= 45°. 

5 
1!:'fi ~ ABC~ 1:'i'RT ifi1~Q:, ~«~ AB+ AC= 8-2 itoi:fto, BC= 3-6 itoi:fto am 
LB=45° m1 

Or/~ 
-Construct a triangle ABC in whicb AB = 6 cm, BC = 4 cm and median 

CD= 3·5 cm. 
1!:'fi ~ ABC ~ 1:'i'RT ifi)~Q:, ~ AB = 6 -i'\ oi:ft o, BC= 4 -i't o i:ft O 

3fl1[ m:fW<l;J 
CD= 3·5 ~o'tfto ml 

*** 

0 
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